March 8, 1989 WOCOMAL FRESHMAN MREET

ROUND I: Alpebraic word problems
EACH ANSWER MUST BE IN SIMPLEST EXACT FORM
[, [f the sum of fwo numbers is 5% +3 and one of the umbers

is 7, write an €y/)r(ff/‘m in 5'”‘/’/“{ form Hor the Sum of twice
the olher number  and 8.

a. feggy rode out of town on hec bicycle it a rale of 24 km/he .
When her biry(/e broke down, She wallked il back 1o town a/mﬂ
ﬁ)c same route ot a rate of 1A km/A,—. If j},@ was gone @ ‘/a/a/

o[ 5 houf)’,
a) how far fram fown did she 9<+
and

b) hou lmg cid i take hee 1o walk back o fowa ?

3 The I.M Hipp Tire Companj produces fires for molor cycles and
cars. Upe week the compary producec/ a dotal of 269 fires
for 70 vehicles. This inclvded @ S/)arc f?’rc ﬁ'f‘ ach car.

Hdw manj mofor (9(/6 {/‘rej d/'d ﬂe Cdm/mn/ Produ“ Mazl wc’ek ,?

ANSWERS

(1 pt) 1.

(2 pts) 2o l¢m b. hours

(3 pts) 3.

A rn, Burncoat, Quaboag



March 8, 1989 WOCOMAL FRESHMAN MEET

ROUND IT: Operations on polynomials

Simplify each expression to a polynomial with terms in decreasing
order of exponents.

[ 3a(?a)1+‘2a(~aﬂ

- V-5 3
2. NTP(NZHan) - an (317
where \/ is an /'nf‘?jer 3’r€a{(’r fﬁc«n 5.

3 (x-3)(x*+axre) 4 (27 ¢5 Y(x-x-1) ~Tx(x-3)

ANSWERS

(1 pt) 1.

(2 pts) 2.

(3 pts) 3.

Juthbridge, Tahanto, Worcester Academy



March 8§, 1989 WOCOMAL FRESHMAN MEET

ROUND 1717: Perimeter ang area of plane Tigures, volume of
rectangular solids, circumference and area of circles

EACH ANSWER MUST RE EXPRESSED IN SIMPLEST EXACT FORM, KEEP m AS 1,

[, A /‘8(7‘4/)3/6 of /éng‘/ﬁ 20 and widtl 12 /)af s
65/ 20 7 aod (s widtf (ncreased 57 56 Js.
coes e area cﬁanje ’

/@ng H decreared
V% y Wwha t percent

7 g Yo Maog 8 inch by § inch square Hles are needed
) exactly cover The Floor Shown iy the d/\ajm”’ 7
14 All dimens, ms are n f\_cg.z‘ and all anglesr are
rrght angles ‘
A
/2

3 Square ABCD has sides 4f /engf( G .
dare c//‘awn nside Me S7Ucme, me  Cepit
The quarter ¢ ircles  bouwd a footba

Quarter Crreles of radws ¢
cred at /4, e o the- at C.
/ A’/)tfcc/ region.  [Sopd (e érea,

ANSWERS

(1 pt) 1. /a

(2 pts) 2.

(3 pts) 3, —_
tlett,

Shrewsbury, Worcester Academy



March 8, 1989 WOCOMAL FHRRSHMAN MEET
ROUND 1V: JFactoring

Factor each expression as completely as poasible over the integers
and simplify each factor when possible.

»

[ I8 'X2~9xy fﬂ”/gjl

9 Ml - —(§

3 (x*+2x —B)Q ~ (x*- 5% F4)”

ANSWERS

(1 pt) 1.

(2 pts) 2.

(3 pts) 3.

Hudson, St.John’s, Southbridge
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TEAY RCUND:  Topics of previous rounds and open

EACH ANSWER MUST BE IN SIMPLEST EXACT FORM AND ON THE SEPARATE
TEAM ANSWER SHEET
3 points each

/. Elaine averaged 20 mph going in ene direction on a trip and 30 mph
o The return trip by the same route (n reverse, What was bher

average speed Soc e enhre rovand z‘m’/»?

Multiply (x-29 4] by (x-2y +l/).

3 A pretuce 15 fwice as /on7 ds il rs wide, [t is mounted so That a
bordec 2 cm wvide Complc k/y Sucrounds The /);‘cfurc’. Fond e olimensios
of the [J/cfure alme IF He drea of the border 1s 136 cm?,

>

Y Factor Complezlc/y : 27(34» é)(jy - 47(227 —12xYy*Z

Three g rls onjhf melons and Shared fﬁem é’{ua//y with a )Qurﬂr
gorl, who paid Hem 484 for hee share. [F the forst girl brovght
3 melons the Second g el é)rough{ Y me/ans, and the third girl
brovght 5 melons | how much of the 4B¢ shouid the Second girl get 7

5}

6. Céanﬂe 342,  into @ number exprg:feo/ in base Three,

V) ..
\\ £ these are cencentric circles with radii A and B,

7.
‘li ‘Find the arca of the shaded region ”.‘ '{‘{{‘fr_ﬁéf,{:‘{rf‘j"
l(ee() T as .
¥, Letters have /‘e/)/acea’ d/‘gh‘f /n MU’ Uss R
Coded addition problem. Uhat 5-digt _t usA
PERACE

Number s represen ted 67 PEACE 7

Algonguin, Assabet Vallev, Auburn, Burncoat, Millbury, St.John’s,
South, Worcester Academy
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